“Unsolved” Key to Final Exam; Finance 4360; Fall 2005; December 10th




Bonus (3 points):  What short-cut is “used to highlight a selection (before copying, cutting, formatting, etc.)”?
Shift + arrow keys
Short answer questions/problems

Note:  if you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  The tax-arbitrage argument suggests that high and low dividend stocks will offer the same pre-tax return.  What basic assumption (or observation about the real world) lies behind the tax-arbitrage argument?
Certain tax provisions allow investors to receive dividends tax free.

2.  List (but do not discuss) the reasons we discussed that firms might repurchase shares of stock.
Distribute surplus cash to stockholders, change capital structure, get rid of nuisance stockholders, believe stock is undervalued, to change control of the firm possible through a leveraged buyout.

3.  In general, what were the results from studies that examine how bond prices react to announcements by firms that they plan to increase dividends?  Which of the dividend theories is most consistent with this reaction?
Fall, stockholder-bondholder conflict.
4.  With respect to dividend payments, what are two ways in which the date of record differs from the ex-dividend date?
Two of:  Date of record is 4 business days after the ex-dividend date; date of record set by board while ex-dividend date set by securities industry; date of record is official day by which must own stock but in reality must own before ex-dividend date in order to get dividend; price falls on ex-dividend date but not on date of record.
5.  You have just received a $1000 bonus, $1000 from selling shares of stock, and $1000 in dividends from shares of stock you own.  Assume that both the shares you sold and the ones that paid you dividends were purchased several years ago with money you made at a summer job.  From which of these sources would you expect to have the greatest and least amount left after you pay personal income taxes according to the current US tax code?
Highest = selling share, lowest = bonus.
Problems/Essays

1.  You are considering whether or not to build a new fireworks outlet called “Gandalf’s Magical Fireworks” just outside of the Waco city limits.  In preparation, you paid $1000 to McLennan County earlier today for a permit to sell fireworks.  In addition, you have purchased a piece of land for $30,000 that you believe will be ideal for your new fireworks outlet.  You went ahead and purchased the land because you know that another buyer had offered $29,000 for the land.  As a result, you are confident that if you change your mind about building the outlet, you can sell the land almost immediately for $29,000.  You have just gotten off the phone with the owner of Waco Construction and have received a bid to build your new outlet facility for $410,000.  This amount would not be due until construction is finished 5 months from today.  Your first net cash flow from sales of fireworks will equal $150,000 seven months from today (July, 2006) and you expect net cash flows to grow by 3% every 6 months thereafter (July and January) through July of 2020 (14 years and 7 months from today).  After your sales in July 2020, you will immediately sell your building and land.  However, you anticipate that the costs to tear down the facility and to undertake any needed environmental cleanup will exceed your proceeds from selling the land.  As a result, you expect the net, after-tax cash flow from closing the facility 14 years and 7 months from today to equal -$15,000.  (Note:  the net cash flow from closing the facility is in addition to any net cash flows from sales).  You estimate that the beta of general retail outlets in Waco is 1.1, that the beta of fireworks manufacturers is 1.3, and that the beta for firework outlets is 1.4.  The return on T-bills is 4.1% and the market risk premium is expected to be 7.2%.  Should you sign the contract to begin construction of the fireworks outlet if your business’ marginal tax rate is 35%?

Let:  I = present value of inflows, C = present value of costs, L = after-tax proceeds if sell land

NPV = I – C
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r = .041 + 1.4(.072)
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L = 29,000 – (29,000 – 30,000).35
Should build if NPV > 0

2.  Southwest Airlines has weathered current high fuel prices since it hedged against price increases.  This has given Southwest a big cost advantage relative to other airlines.  As Southwest uses up these hedge contracts, its fuel costs will become similar to the fuel costs of other airlines and it is expected to raise prices on its tickets.  You are convinced that American Airlines’ stock price will rise as this happens and you have decided that you would like to profit from this by trading options on American’s parent company AMR.  
a.  Given the following information, what is a fair price for puts and calls on AMR with a strike price of $20?
b.  What kinds of options transactions would you undertake to profit from the expected rise in AMR’s price?

c.  If you trade 5 puts and 6 calls (at the values you calculate in part a) now, what would be your total profit if AMR’s stock price rises to $28?  Assume that you do not close out any option position until expiration.
Additional information on AMR:

Market value:  stock = $3,250,000; debt = $10,000,000; assets = $13,250,000
Book value:  stock = $1,000,000; debt = $15,000,000; assets = $16,000,000

Number of shares outstanding = 165,000

Life/maturity:  debt = 10 years; AMR’s assets = 15 years; options want to trade = 6 months

Standard deviation of returns on stock over:  next 6 months = 35%, next 10 years = 30%, next 15 years = 25% 

Standard deviation of returns on assets over:  next 6 months = 28%, next 10 years = 22%, next 15 years = 18% 

APRs (continuously compounded) on Treasury Strips of various maturities:  6 months = 4.32%, 1 year = 4.40%, 15-years = 4.75% 20-years = 4.80%

a.  
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S0 = 3,250,000/165,000
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Note:  Look up N(d1) and N(d2) on cumulative normal distribution tables
b.  Sell puts and buy calls.

c.  Profit = 5*100*P0 +6*100*(28 – 20 – C0)
3.  Based on the following information, calculate a beta for 3M.  


Return on:  

Year
3M
S&P500
2005
1%
6%

2004
3%
11%

2003
24%
13%

2002
16%
-18%
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4.  In class we talked about 4 types of decisions in which a conflict of interest might exist between a firm’s stockholders and bondholders.  Assume that Artic Blast Inc. is currently facing four decisions (one of each type) and that in each of these decisions management is planning to make a decision based solely on the impact of the decision on the firm’s stockholders.  If management were to decide to only take actions that benefit both the firm’s stockholders and the firm’s bondholders, which of the decisions would change and which would not?  Explain your answer.
1)  Conflict:  stockholders gain at the expense of bondholders if the firm invests in projects that increase the risk of the firm’s assets
key => stockholders get most if not all the upside and share downside with bondholders


=> stockholders have residual claim and limited liability while bondholders have a fixed claim.

Change in decision?  Yes.  Projects that would have helped the stockholders but hurt the bondholders will no longer get taken

2)  Conflict:  stockholders have an incentive to pass up positive NPV projects if they must provide the funding for the project

key => since stockholders and bondholders share in the benefit of any new project, stockholders may not benefit enough to cover their cost to take the project
Change in decision?  No.  Stockholders will lose if the project is undertaken while bondholders lose (opportunity cost) if the project is not undertaken.  The project can’t be undertaken and not undertaken at the same time.

3)  Conflict:  stockholders gain at the expense of the original bondholders if the firm issues additional debt with the same priority of claim as the original debt

key => new debt dilutes the claim of the original bondholders

Change in decision?  Yes.  Firms will no longer issue new bonds with the same priority of claim as the original debt.

4)  Conflict:  stockholders gain at the expense of bondholders if the firm pays dividends
keys => 

1)  stockholders have a net gain since their stock falls by less than the dividend but get entire dividend

=> value of firm drops by amount of dividend

=> combined fall in value of stocks and bonds equals drop in firm value

2) risk of firm rises as pay out risk-free cash

=> stockholders gain while bondholders lose

Change in decision?  Yes.  Firms will no longer pay dividends since dividends benefit stockholders at the bondholders’ expense.
5.  You have become concerned that the firm you work for has begun to experiences financial distress costs because of its debt.  What information (if you could get it) might help you determine whether your firm is experiencing (or might soon experience) financial distress costs and how would you use this information to come to some sort of conclusion regarding the extent to which these costs are having a negative impact on the firm?
1)  Information on whether firm is making payments to legal firms (or to courts) specializing in bankruptcy law.  
Note:  legal fees only provides indirect evidence that might be experiencing financial distress, but payments to bankruptcy courts might be direct evidence

2)  Calculate the firm’s times interest earned ratio

Indications of distress:  if close to or less than 1, firm has strong chance of not being able to deduct interest payments for tax purposes

Note:  debt ratio that is high (compared to the industry) and rising might also help a bit but not as helpful as times interest earned.

3)  Calculate firm’s cash coverage ratio
Indications of distress:  if close to or less than 1, firm runs risk of being unable to make interest payments
4)  Drop in sales due to customer concern about the survival of the firm
Note:  lost customers could be due to many reasons so it would be hard to use this to determine whether firm is having financial distress.

5)  Interest rates being paid by the firm

Indications of distress:  interest rates being paid by the firm have been rising faster than the general level of interest rates

6)  Supplier credit

Indications of distress:  wide range of suppliers cutting off credit

7)  Management effort
Indications of distress:  management spending all of time avoiding bankruptcy
8)  Covenants on new debt being issued
Indications of distress:  covenant becoming much more restrictive on the firm

9)  Debt rating

Indications of distress:  dropping below BBB

10)  Quick and current ratios

Indications of distress:  low (compared to the industry) and falling may indicate potential short-term debt problems.

11)  Default on interest payments

6.  The internet has greatly reduced (or in some cases even eliminated) the cost to most individuals of obtaining information.  This increase in information also means that fewer differences exist between the information that management and stockholders have about a firm.  Based on what we have talked about in class, what changes in the behavior of management (or the firm) would you expect to observe as the information gap between management and stockholders closes?
Key => management will act more in stockholder’s interests

1)  Change:  Management will begin to work harder and thus close the gap between the intensity with which management wants to work and the intensity with which stockholders want them to work.
Reasons:  Stockholders will have better information about management efforts and will be able to structure incentives appropriately.

Note:  likely to be small changes in effort since even with better information it will be difficult for stockholders to know exactly what management is doing

2)  Change:  Management will have fewer perks

Reasons:  stockholders are more likely to find out about the perks and their cost

Note:  pay is less likely to change since already public knowledge through SEC filings.

3)  Change:  Management will be less likely to pursue reductions in company specific risk
Reasons:  with better information, stockholders are more likely to know if management is taking an action simply to reduce company specific risk.

=> stockholders are indifferent to this risk while managers want to minimize it.

4)  Change:  management will be less likely to overexpand the firm
Reason:  with better information, stockholders will be more likely to recognize when the firm is expanding to promote management power, pay, and perks.

5)  Less likely to have firm issue debt

Reason:  less conflict so less need for incentives provided by debt.

6)  Less dividends likely to be paid

Reason:  less value to external monitoring that stems from possible future issues brought about by dividends.

7.  Assume that congress eliminates all income taxes (corporate and personal) and imposes a national tax on all retail sales.  How would you expect the payments made to stockholders and the payments made to bondholders to change under the new tax system compared to the current one?  You should assume that firms are behaving optimally under the current tax system and that enough time passes for them to achieve optimal behavior under the new system.
Total payments to stockholders and bondholder:  likely to rise 

=> consumers now pay all taxes through the sales tax
=> after-tax cash flows generated by firms rises

Percentage of total payments going to stockholders (relative to bondholders):  likely to rise

=> corporate and personal taxes give firms an incentive to have at least some debt in their capital structure

=> expected corporate tax savings from debt starts at corporate tax rate then falls as issue additional debt and firms become less confident of being able to deduct the interest

=> the tax rate of the marginal investor in bonds starts at zero then rises as firm’s attract bondholders in higher and higher tax brackets by increasing the pre-tax return on the bonds.

=> if only taxes are considered, the optimal amount of debt occurs when 
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 equals TB.  If firms have any corporate profit, this will occur at non-zero debt levels
=> total debt will fall without this tax incentive to issue debt

Payments to stockholders also likely to rise since firms no longer avoid dividends because of personal taxes on dividends.

Notes (the following are minor points that are not central to answering this question, but they are relevant):  

1)  Firms with high levels of free cash flow will still have an incentive to have some debt 

=> debt resolves stockholder-manager conflict by:

1]  taking discretionary cash out of management’s hands

2]  keeping management’s feet to the fire

3]  allowing management to own a larger % of the firm’s equity

2)  Financial distress costs will keep debt low

=> bankruptcy still makes debt at least a little expensive

=> firms must still worry about the potential for lost confidence in the firm

=> potential for lost sales, higher credit costs, loss of key employees, loss of supplier credit

=> management may spend effort and money avoiding bankruptcy rather than maximizing value

3)  Bondholder attempts to protect themselves will still impose a cost on the firm for issuing debt

=> more monitoring, convertible debt, covenants
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